J000o00o0oo0oodooooooooonod PDRO
J0odoooooooooooon
https://www.100test.com/kao_ti2020/645/2021 2022 E6 9C BA
E7 94 B5 E8 AE BE E5 c47 645030.htm id="htiy"
class="marl0">0 0000000000 OO @4)00
dy-12M-40 0 0 0000000000000 00O0O0O0
050 000dododouoOrmn0d0ooooog?
Jo@QoobooooO)oboooooooog Aoooad
OBU0O0OO0OCOUOODLOUODUODEDODODO OO
OJAD.O0O0O0OOBR OO0 0O0OO0OOOoOooOooOnd
Jo0?200000b0@uouooooooooooooog
Do00o00o0oO@o)=50HzU 0O OO0 OO S=5% P=4
JO0o00oboOoo0d@d)=50Hz 0 0 n1=60f/P 0 nl1=60

x 50+ 4=750r/minS=(n1-n)/n1=0.05 n=n1(1-S)=750

X (1-0.05)=7125r/min100Test U 0 D OO OO OOOOOOMO
000000000 www.100test.com



